— &4

FE—E

ENBMERINGTRSE

(B) wH284H1H

(£) HH3E3H31H

HREHEAYCLOIBUR

—HRN (BT LEREFMIARMR)

(BfT : M)
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REBEIA 230, 658, 138 232, 725, 798 —2.067, 660
EASFISBBNSIIA 556, 943 609, 712 -52. 769

B3 [ mEmsm e A 713, 040 713, 040 0
| A | ZERISELSIRA 2,498 2,752 ~254
| |zoMmouA 2,607,110 2,587, 440 19, 670
g| [ExEsRAGT (1) 234,537, 729 236, 638, 742 ~2.101, 013
| [ArEZE 162, 528, 366 160, 445, 525 2,082, 841
£ |EmEXRE 23,100, 000 21,601, 287 1,498 713
7 | X |BHEsy 10, 587, 250 9,173, 989 1,413, 261
MBSz NS 1,025, 667 1,025, 707 -40
= | |zoftozH 400, 000 450, 500 -50, 500
FEEHZ LT (2) 197, 641, 283 192, 697, 008 4,944, 275
SEEHESINTEL (3) = (1) — (2) 36, 896, 446 43,941, 734 —7,045, 288

[ E | IN[fea 2 msmensiRA 2,378, 000 2.378, 000 0
i | A [ @SR AGt (4) 2,378, 000 2,378, 000 0
%, [BRESEARTREERE 12. 396, 000 12. 396, 000 0
© |y |[BEEE RS s 3,569, 840 3,571,710 -1, 870
£ | e RS Et (5) 15, 965, 840 15,967, 710 1, 870
z [ EREESINE=% (6) = (4) — (5) —13, 587, 840 —13, 589, 710 1,870
| X [eotommRAL (7) 0 0 0
8| X (B EESRE 22,920, 000 26, 920, 000 —4, 000, 000
C | & [zothoiEEn=HEt (8) 22,920, 000 26, 920, 000 ~Z, 000, 000
£ [ZotoEsES N Z%E (9) = (7) — (8) ~22.920, 000 ~26. 920, 000 4, 000, 000
FiREZE (10) 0
UHRERINT A At (11) = (3) + (6) + (9) — (10) 388, 606 3,432, 024 3,043, 418
NIk ESES (12) 37, 817, 891 37, 817, 891 0
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|2k ERES (11) + (12) 38, 206, 497 | 41,249,915 | -3, 043,418 | |
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